## CITY OF PORTLAND CONTRACT NO. 40997 AMENDMENT NO. 10

### FOR

### UNIFORMED SECURITY OFFICERS SERVICES

This Contract, made and entered into this 23<sup>RD</sup> day of March, 2006 by and between G4S Secure Solutions USA, Inc., hereinafter called Contractor, and the City of Portland, a municipal corporation of the State of Oregon, by and through its duly authorized representatives, hereinafter called City.

- 1. The Contract is hereby amended to extend the Contract term for an additional one (1) year beginning on April 1, 2013 through and including March 31, 2014. As per the attached Proposal Cost Sheet, the funds being added for the new Contract term shall increase the Contract Value by \$1,625,676.00, making the new not to exceed contractual total \$11,981,798.10.
- 2. All other terms and conditions remain unchanged.

G4S SECURE SOLUTIONS USA, INC.

BY:

Cary Miller, General Manager

Address:

5100 SW Macadam Avenue Suite 550 Portland, OR 97239

Date

Telephone No.:

503-291-1005

Email:

cary.miller@usa.g4s.com

CITY OF PORTLAND BY:

Approved as to form:

APPROVED AS TO FORM anea H. Van Duk

-CITE ATTORNEY

Christine Moody, Chief Procurement Officer

Date

## City of Portland PROPOSAL COST SHEET 4/1/2013

FACILITY	·····	TOTAL STAFF HOURS / MONTHS	TOTAL COST / MONTH	TOTAL COST / YEAR
The Portland Building	Hourly:			
<u>Armed Security</u> M-F 11 hours daily Project Manager Dispatch	\$28.82 \$29.57	230	\$6,628.60 \$1,150.00	\$79,543.20 \$13,800.00
	¢20.07		\$591.33	\$7,096.80
Portland Building 24/7 coverage	\$18.28	460	\$8,408.80	\$100,905.60
	\$18.98	504	\$9,565.92	\$114,791.04
Annual \$309,130.38 City Hall	Llouriu			
-	Houriy:			
<u>Armed Security</u> M-F 11 hours daily	\$28.82	238	\$6,859.16	\$82,309.92
City Hall 24/7 coverage	\$18.28	460	\$8,408.80	\$100,905.60
	\$18.98	504	\$9,565.92	\$114,791.04
Project Manager			\$690.66	\$8,288.00
City Hall Mayor's Detail				
Armed Security M-F 9 hours daily Annual \$366,726.80	\$28.82	195	\$5,619.90	\$67,438.80
1900 Building	Hourly:			
Su-Sa 24 hours daily Project Manager	\$18.98	728	\$13,817.44 \$666.66	\$160,392.96 \$8,000.00
Annual \$168,392.96				
<b>Union Station</b> 16 x 7 Desk-Union Station 18 x 7 Amtrak Project Manager-Amtrak	Hourly: \$18.98 \$18.98	485 547	\$9,205.30 \$10,382.06 \$222.33	\$110,463.60 \$124,584.72 \$2,668.00
Project Manager-Union Station Annual \$235,370.24			\$444.33	\$5,332.00

Total April 2013 through March 2014				\$1,625,676.00
November 2013 through March 2014	6018	\$132,8	\$531,263.20	
April 2013 through November 2013	6228	\$136,8	01.60	\$1,094,412.80
COMBINED TOTAL	TOTAL STAFF HRS/MOS	TOTAL COST / MONTH		TOTAL COST / YEAR
Include Hourly Billing Rate for each classification				
Est. Annual. Cost	\$9000			
Project Manager	\$20.88			
Park Patrol CPO	\$20.88			· - ,
Security Officer *On Call*	\$18.98		\$750.00	\$9,000
Parks and Recreation	Hourly:			
Annual \$50,000			ψ, 100.00	φου,000.00
Annual \$10,020.80 Fire Watch (PFB)	*On Call-NTE	· · · · · · · · · · · · · · · · · · ·	\$4,166.66	\$50,000.00
Project Manager			\$16.66	\$200.00
Patrol	\$21.14	40	\$845.60	\$10,147.20
Fleet				· · · · · · · · · · · · · · · · · · ·
\$228,464.48				
Project Manager			\$654.16	\$7,850.00
	ΨΔΙ.ΙΨ	120	Ψ2,042.00	ψοτ, ετο.υ
Terminal1	\$20.88 \$21.14	125	\$15,627.04 \$2,642.50	\$189,924.4 \$31,710.00
Wastewater (CPO)	Hourly: \$20.88	758	\$15,827.04	¢120.024.4
Annual \$11,266.88 Bureau of Environmental Services	Hourber			
Project Manager			\$16.66	\$200.0
Armed Officer- Hearings	\$28.82	32	\$922.24	\$11,066.8
Auditors Office	Hourly:			
Annual \$70,553.16				t,
Project Manager			\$132.75	
ECC Project * (April-Nov.)	\$18.98	210	\$3,285.80 \$3,985.80	
Unarmed Officer	Hourly: \$18.98	173	\$3,283.54	\$39,402.4
Annual \$129,765.00 BOEC	Hourbe			
Kerby Patrol	\$21.14	366	\$7,737.24	\$92,846.8
8 x 5 Gate and Yard Patrol	\$18.98	173	\$3,283.54	
Project Manager Albina Yard	Hourly:		\$010.00	ψ0,12
			\$310.00	-\$3,72

G4S Secure Solutions (USA) Inc. Cary Miller General Manager 5100 Macadam Ave, Suite 550 Portland, OR 97239

Telephone: 503.291.1005 Fax: 503.291.1073 Email: cary.miller@g4s.usa.com www.g4s.com/us

February 19, 2013

Mr Robert Kieta 1120 SW 5<sup>th</sup> Ave, Rm. 1204 Portland OR 97204

Securing Your World

Mr Kieta,

6.

G4S has provided Security Services to the City of Portland, "COP", since 2006, and we are proud of our ability to be the provider of choice for the City. As discussed and per your request, outlined below is the current G4S/COP. Staffing, Pay Rate, Benefits and Diversity associated with the G4S/COP contract:

1. Total number of employees assigned to the contract: 47 (Does not include seasonal staffing)

2. Percentage of employees at or above Fair Wage per the COP May 15, 2012 memorandum: 100%

3. Benefits: Kaiser HMO is the current Medical Health Insurance provider: Officer Participation is Twenty four percent, (24%). One hundred percent, (100%) of all full-time Officers are offered the benefit.

4. Every Officer assigned to COP will receive the minimum \$11.77/hr which includes the allocated benefit differential as required by the COP 2012-2013 Fair Wage Adjustment.

5. G4S subcontracts the security coverage at the Albina yard to DePaul, currently 173 hours per month.

G4S/COP Diversity:	G4S Office Diversity:				
Female, White	13	Female,	White	3	
Female, White Shift Lead	01	Male,	White	5	
Male, White	26	Male.	Black	1	
Male, White Shift Lead	05	Male.	Hispanic	1	
Male, White Project Mgr.	01	Male,	White Mgt.	1	
Male, Black	01			•	
TOTAL	47	TOTAL:		11	

7. G4S has been recognized for excellence as a result of its outstanding officers and their commitment to exceptional service. Recent recognition includes:

a. In 2012 G4S spends over \$40M in the US through its mentoring and subcontract programs with its MBE/SBE/DBE partners.

b. In 2012 G4S USA successfully passes 50 consecutive audits conducted by the U.S. Department of Labor, Office of Federal Contract Compliance Programs (OFCCP) between 2010 and 2012, this is a direct reflection of our commitment to diversity throughout all levels of the organization.

c. In 2012 G4S is the first security organization to renew its US Department of Homeland Security Safety Act Certification for Physical Security Services, G4S was the 1<sup>st</sup> Security Company to be granted this certification after 9-11.



-----d. In 2011 G4S USA receives the highest global award for reducing its carbon foot footprint and the Go Green initiative.

e. In 2012 G4S receives its 6<sup>th</sup> consecutive "Top 125 Training Company" awards by *Training* Magazine.

f. Top 50 Military Employer Award.

g. In 2012 Portland G4S Office recognized by the USOC for outstanding performance at the US Track & Field Trials in Eugene, Oregon.

h. Officer Cindy Williams, G4S Officer at the City of Portland (City Hall), was recognized amongst 500 officers as being the 2012 POR G4S Officer of the Year.

i. In 2012 Portland G4S partnered with the Portland Police Bureau Explorer Program and awarded its first PPB Explorer Community Service Award.

j. In 2012 Portland Operations Manager recognized by G4S for outstanding performance and operational commitment to G4S internal and external customers.

8. On behalf of the Portland G4S Secure Solutions (USA) Team, thank you for your business and we look forward to our continued partnership with the City of Portland. If I may be of further assistance in this matter, please don't hesitate to contact me.

Kind Regards,

Carv Miller

General Manager G4S Secure Solutions (USA) Inc. 5100 Macadam Ave, Suite 550 Portland, OR 97239

Securing Your World

ACORD <sup>®</sup> CERTIFICA						DATE(MM/DD/YYYY) 09/26/2012	
THIS CERTIFICATE IS ISSUED AS A MATTER OF CERTIFICATE DOES NOT AFFIRMATIVELY OR I BELOW. THIS CERTIFICATE OF INSURANCE OF REPRESENTATIVE OR PRODUCER, AND THE CENTRE INFORMATION OF THE ACTION OF THE	NEGATIVELY AMEND OES NOT CONSTITU RTIFICATE HOLDER.	, EXTENI TE A CO	O OR ALTI	ER THE CO BETWEEN T	VERAGE AFFORDED B' HE ISSUING INSURER(	Y THE POLICIES S), AUTHORIZED	
IMPORTANT: If the certificate holder is an ADDIT the terms and conditions of the policy, certain pol certificate holder in lieu of such endorsement(s).							
PRODUCER Aon Risk Services, Inc of Florida 1001 Brickell Bay Drive	*/ <u>***********************************</u>	CONTACT NAME: PHONE (A/C. No. E	Ext); (866)	283-7122	FAX (A/C. No.): (847)	953-5390	
Suite 1100 Miami FL 33131 USA		E-MAIL ADDRESS:					
MIGHT FL 22T2T D24		1400100		URER(S) AFFO	RDING COVERAGE	NAIC #	
NSURED	,	INSURER A	a: Natio	onal Union	Fire Ins Co of Pitts	ourgh 19445	
45 Secure Solutions (USA) Inc. .395 University Blvd		INSURER I	B: New I	Hampshire 1	ins Co	23841	
upiter FL 33458 USA		INSURER O	s: Illir	nois Natior	al Insurance Co	23817	
		INSURER I	נס		· · ·		
	,	INSURER E	2:				
	· · ·	INSURER F	=:				
	UMBER: 5700475765				EVISION NUMBER:		
THIS IS TO CERTIFY THAT THE POLICIES OF INSURAI INDICATED. NOTWITHSTANDING ANY REQUIREMENT CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, TH EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. L	, TERM OR CONDITION E INSURANCE AFFORD	OF ANY C DED BY TH	CONTRACT	OR OTHER D	DOCUMENT WITH RESPEC	T TO WHICH THIS	
NSR TYPE OF INSURANCE ADDLI SUBR	A DD BOLDET AURIDER	AC TO	POLICY EFF	POLICY EXP	LIMITS		
TR TYPE OF INSURANCE INSR WVD	L7146406		070172012	40/01/2013	EACH OCCURRENCE	\$1,000,000	
X COMMERCIAL GENERAL LIABILITY	Lames H		7		DAMAGE TO RENTED	\$1,000,000	
CLAIMS-MADE X OCCUR	pares 13	s va	$\sim \Sigma_{\mathrm{M}}$	Rej U	PREMISES (Ea occurrence) MED EXP (Any one person)	Excluded	
CLAINS-MADE X OCCOR	· )		U	- / i	PERSONAL & ADV INJURY	\$1.000.000	
	$\cup$ CITY AT:	roph	EV	3/5/13	GENERAL AGGREGATE	\$1,000,000	
	CIT AL	IURIN	EI	/////-			
GEN'L AGGREGATE LIMIT APPLIES PER:					PRODUCTS - COMP/OP AGG	\$1,000,000	
	A 344-72-19	1.	0/01/2012	10/01/2013	COMBINED SINGLE LIMIT	\$1,000,000	
	05				(Ea accident)		
	A 344-72-20	1	.0/01/2012	10/01/2013	BODILY INJURY (Per person)		
	A 344-72-21	1	0/01/2012	10/01/2013	BODILY INJURY (Per accident) PROPERTY DAMAGE (Per accident)		
UMBRELLA LIAB OCCUR					EACH OCCURRENCE		
EXCESS LIAB CLAIMS-MADE					AGGREGATE		
DED RETENTION							
	c043464615		0/01/2012	10/01/2013	V WC STATU		
EMPLOYERS' LIABILITY Y/N	DS	[*	,,		X WC STATU- TORY LIMITS OTH- ER	£1.000.000	
	c043464616	1	0/01/2012	10/01/2013	E.L. EACH ACCIDENT	\$1,000,000	
(Mandatory in NH)     C/     If yes, describe under     DESCRIPTION OF OPERATIONS below	<b>Α</b> .				E.L. DISEASE-EA EMPLOYEE	\$1,000,000	
	UC6636134		0/01/2012		E.L. DISEASE-POLICY LIMIT	\$1,000,000	
0	WC6636134 H-Statutory WC ER applies per poli				EL Each Accident EL Disease - Policy EL Disease - Ea Emp	\$1,000,000 \$1,000,000 \$1,000,000	
ESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (Attach ACO			ļ		·····		
ontract/PO No: RFP No. 104620 ty of Portland is added as an Additional In itten contract but limited to the operation nditions and exclusions.	sured excluding Wor	rkers' Co	ompensatio	on and Emp	loyers' Liability as ays subject to the po	s1,000,000 s1,000,000 s1,000,000 required by licy terms, B BEFORE THE BANCE WITH THE	
ERTIFICATE HOLDER	CAN		ION	r			
	E		DATE THERE		BED POLICIES BE CANCELLE LL BE DELIVERED IN ACCORD	D BEFORE THE DANCE WITH THE	
City of Portland Attn: Bob Kieta, Facilities Operations Manager 1120 SW Fifth Avenue, Room 1250 Portland, OR 97204 USA AuthORIZED REPRESENTATIVE AUTHORIZED REPRESENTATIVE AuthORIZED REPRESENTATIVE							

©1988-2010 ACORD CORPORATION. All rights reserved. The ACORD name and logo are registered marks of ACORD

Attachment to ACORD Certificate for G45 Secure Solutions (USA) Inc. The terms, conditions and provisions noted below are hereby attached to the captioned certificate as additional description of the coverage afforded by the insurer(s). This attachment does not contain all terms, conditions, coverages or exclusions contained in the policy.

INSURED	INSURER	
G45 Secure Solutions (USA) Inc. 1395 University Blvd	INSURER	
Jupiter FL 33458 USA	INSURER	

INSURER
INSURER
INSURER
INSURER
INSURER

#### ADDITIONAL POLICIES

If a policy below does not include limit information, refer to the corresponding policy on the ACORD certificate form for policy limits.

INSR LTR	TYPE OF INSURANCE	ADDL INSR	SUBR	POLICY NUMBER/ POLICY DESCRIPTION	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	s
	WORKERS COMPENSATION	1.						
с		- N/A		WC043464617 FL	10/01/2012	10/01/2013		
В		N/A		WC043464618 MN	10/01/2012	10/01/2013		
				· .				
							•	
						``````````````````````````````````````		

570047576532 **Certificate No:** 

THIS ENDORSEMENT CHANGES THE POLICY. PLEASE READ IT CAREFULLY.

## ADDITIONAL INSURED – OWNERS, LESSEES OR CONTRACTORS – SCHEDULED PERSON OR ORGANIZATION

This endorsement modifies insurance provided under the following:

COMMERCIAL GENERAL LIABILITY COVERAGE PART

SCHEDULE

Name Of Additional Insured Person(s) Or Organization(s):	Location(s) Of Covered Operations				
ANY PERSON OR ORGANIZATION WHOM YOU BECOME OBLIGATED TO INCLUDE AS AN ADDITIONAL INSURED AS A RESULT OF ANY CONTRACT OR AGREEMENT YOU HAVE ENTERED INTO	PER THE CONTRACT OR AGREEMENT				
Information required to complete this Schedule, if not shown above, will be shown in the Declarations.					

- A. Section II Who Is An Insured is amended to include as an additional insured the person(s) or organization(s) shown in the Schedule, but only with respect to liability for "bodily injury", "property damage" or "personal and advertising injury" caused, in whole or in part, by:
  - 1. Your acts or omissions; or
  - 2. The acts or omissions of those acting on your behalf;

in the performance of your ongoing operations for the additional insured(s) at the location(s) designated above. **B.** With respect to the insurance afforded to these additional insureds, the following additional exclusions apply:

This insurance does not apply to "bodily injury" or "property damage" occurring after:

- All work, including materials, parts or equipment furnished in connection with such work, on the project (other than service, maintenance or repairs) to be performed by or on behalf of the additional insured(s) at the location of the covered operations has been completed; or
- 2. That portion of "your work" out of which the injury or damage arises has been put to its intended use by any person or organization other than another contractor or subcontractor engaged in performing operations for a principal as a part of the same project.